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Velocity Time Graph Practice Name:

1. Match the following velocity time graphs with descriptions of the motion.
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2. Sketch a velocity time graph, with values labelled for each of the following situations:
a. An object moves with a constant velocity of 5.0 m/s for 15 seconds.
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b. An object starts at rest and accelerates at a constant rate to a velocity of 15.0 m/s after

15 seconds.
15 4 e
S
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c. An object moves in the negative direction for 5 seconds at -5.0 m/s, then

instantaneously stops and remains at rest for 5 seconds, then moves in the positive
direction at 5.0 m/s for 5 seconds.
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3. For each of the position time graphs shown, sketch a velocity time graph with values labelled.
45
40
35

Position (m)
N N w
(e} (6] o

[N
]

10

Time (sec)

Cansjfa/\"~ Ve/achl/ of j[-gic = Ll'M/S

N

Ve/o'c,’b,

*; +0"‘l€
105ec




Velocity Time Graph Practice Name:
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Velocity Time Graph Practice

4. Match the following velocity time graphs wit

Name:

h cqrresponding position time graphs.
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5. Consider the
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a. What is the velocity of the object at t=2?

@ ,H.wn Lok éc, fCo»/

. : i =147
b. What is the velocity of the object at t=147 J”(‘.}IY 'P/l/"t f/\e

CSm/s) fueh

c. What is the acceleration of the object between times t=0 and t=4?

ol = A\/_ 944/5 __
T AtV T Ugee T

d. What is the acceleration of the object between t=4 and t=127?

_Av =Sals=Sals _ —B3mls _ | 625m /53

At - |25~ Ysec S sec .
e. What is the acceleration of the object between t=12 and t=16? ~

=2 = =0 Wi

f.  What is the acceleration of the object between t=16 and t=207? Werry
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6. Considerthe 100
velocity time

80
graph shown.
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a. Astudent claims the object is stationary between t=t and t=10. What mistake do you think they
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b. When is the object not moving?

At +=1% (=0 the)
c. During what time periods is the object moving with constant velocity?
B€+U€?A += S— +='d
and  F=19— 1220
d. During which time periods is the object moving in the positive direction?
AA/ time vela(.n‘7 /s par.‘f,‘vc/
+=d — += |Y
e. During which time periods is the object accelerating in the positive direction?
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7. Consider the velocity time graph shown.
a. What is the velocity of the object
throughout this graph?
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b. What is the total displacement of the object during the time shown on the graph?

D:Sloldlemén+ AICo\ édlween X-0Xx'§ On" u\?

=(3/5)(105) =G0

8. Consider the veIocuty

time graph shown.
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b. What is the total displacement of the object during the time shown on the graph?

Displacenent = Ates betueon x-oni aud [ne
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pd
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9. Consider the

5
velocity time 4
graph shown. ,
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a. What is the acceleration of the object between t=0 and t=5?

- Av _ 4.,/
a‘a+— o

S sec

b. Describe the motion of the object between t=5 and t=7.
At res +, velae 2117 'S ero

c. Describe the motion of the object between t=7 and t=10.

Consto 1 \/e/ac.'/ o ‘2"4/5

d. What is the total displacement of the object?
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10. .

Velocity (m/s)

7 8 9 10
Time (sec)
= 10m /j a. Fill'in the blanks:
S ye( The object starts with a velocity of S m/s. It accelerates at 2 m/s? for
R seconds until it has a velocity of | S m/s. It continues at that velocity
:'ZM /5 for the rest of the time.

b. Determine the total displacement of the object.

A: "*rlan/e C= ret-‘}on,’c
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Dxw = Ssec x Smls
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11.

Velocity (km/hr)
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a. Astudent claims that during the first 5 seconds the object will have a displacement of
5 x 80 = 400 m. Why is that incorrect?
m/ 5

Ve loc: +7 iy ool T
b. What are the units that the calculation should be in?

Ssec x §0 kn — L"OO sec e km

hr hr

c. Determine the actual displacement in metres during the first 5 seconds.

Y400 sec ke | he 1000 m
hr 3600s5ec | KM

d. What is the total displacement during the whole graph?

G400 +75 + 250 +500 = | 225 Sec- km
hr

=1l m

1225 se k"x | b )(_'_”{_Lj_:

ne 3600 sec



